<Y>
<HR>
<DC>0000000000</DC>
<RC>4</RC>
<FD>950901</FD>
<TD>950930</TD>
<CR>RX000000</CR>
<DN>ْ</DN>
</HR>

<X>
<PH>
<SQ>1</SQ><RD>950921</RD><ND>950921</ND><PT>124</PT><SN>1463077254</SN><PC>157845</PC><RN>3</RN><VD>139512</VD><PP>180000</PP><PS>0</PS><IS>180000</IS>
</PH>
<BY>
<MH><MG>00208</MG><MD>100</MD><MR>100</MR><MP>130000</MP><MI>130000</MI><MS>0</MS></MH>
<MH><MG>00617</MG><MD>100</MD><MR>100</MR><MP>50000</MP><MI>50000</MI><MS>0</MS></MH>
</BY>
</X>

<X>
<PH>
<SQ>2</SQ><RD>950923</RD><ND>950923</ND><PT>124</PT><SN>1463072341</SN><PC>157845</PC><RN>10</RN><VD>139512</VD><PP>700000</PP><PS>0</PS><IS>700000</IS>
</PH>
<BY>
<MH><MG>00572</MG><MD>200</MD><MR>200</MR><MP>400000</MP><MI>400000</MI><MS>0</MS></MH>
<MH><MG>01275</MG><MD>200</MD><MR>200</MR><MP>300000</MP><MI>300000</MI><MS>0</MS></MH>
</BY>
</X>

<X>
<PH>
<SQ>3</SQ><RD>950928</RD><ND>950928</ND><PT>124</PT><SN>1464500061</SN><PC>157845</PC><RN>7</RN><VD>139512</VD><PP>260000</PP><PS>0</PS><IS>260000</IS>
</PH>
<BY>
<MH><MG>00208</MG><MD>200</MD><MR>200</MR><MP>260000</MP><MI>260000</MI><MS>0</MS></MH>
</BY>
</X>

<X>
<PH>
<SQ>4</SQ><RD>950930</RD><ND>950930</ND><PT>124</PT><SN>1463077254</SN><PC>157845</PC><RN>4</RN><VD>139512</VD><PP>220000</PP><PS>0</PS><IS>220000</IS>
</PH>
<BY>
<MH><MG>01222</MG><MD>100</MD><MR>100</MR><MP>100000</MP><MI>100000</MI><MS>0</MS></MH>
<MH><MG>00164</MG><MD>100</MD><MR>100</MR><MP>120000</MP><MI>120000</MI><MS>0</MS></MH>
</BY>
</X>
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